¥ ¥

SAHRAEIDP(S,

RUV\FBEBANEEITICENFTHRINET
3828(H) OPEN~12BtEZF TREL —IUHWELE>TET, @
3858(K) OPEN~11:30EZFTLEEL— YN TINFEE A,

/:lf-j yuiza AL sase

T238-0041 1#ZEE THAMET2-1-12 Coaska Baysade Stores6F BOwWL
TEL:046-821-2125 FAX:046-821-2127 20253
(DFPAPADIS5T « DTS TEIRRHAHERDZET)
3%78(@; 11:30~15FBtBEF TEEL— N ELIE>TET,

SA9H(B) 12B~14RBEFTEE L —YDDE<E>TET, — ) =
3810B(B) 12B~14BEZ TREL—YHWE< B TET. © CIHDZBRNNELET ©
3815B(1) OPEN~1530EETREL — V<R > TET.

(B)
(1)
38218(&) 12B~17HEEFTEEL—IUHDELE>TEI, VA
38238(8) 12B~1430@FXTEEL—IHDE< B> CET, B SIS, 1 ESA VI EEXRCKEDET,
38268 0K) OPEN~16BtEZ CZEL — UHD <> TET, @ CRIZEROCER « 18 D0 O+1 )V ARREILAABBLIEDIZESO CHNEZE
38278K) 12B~18BEFTEEL—YHIWWELIE>TET, RMNMTVNZUEIH. CIBRE « CIHRHERBENZULET,
ﬁ@i@}?a@g%m%a og%a ‘%\H}EE é;_RBB%;)g 3128 ~15BEE T Y% F1 OAXKESEEBRRTE Sk
S J—D8DA, 2EL—YDDEESOTED, . .
RERBBDINRE RN ETOT. BRAOSRREBERA< S, 2025F 4B XD RE2DD =T AV ~EREVE LT
S o _ @, o D PRU—I1TOUT (180%i%) DB HINSINTEIAS
*w JO0Y3vT ZRAADM=IU ! Sk BEE @ K FREOH CHNEECBE CESNTEEAS
= ) WP, = TPy _ DDAERANDSIEIE » + + KL MEBBEART — LB 5GIM HERT,
PFasSA4Y - YP—TUIPAS8 T-IVE=E(dE : ¥29,140 = 7/\“L/—)“179L19F0)750)3>L*D[]__I i
X U —TDERITIE. T — AMRUPAL —YCRBESNEL A
X MU EREIC BRI SNBRENREE BN FT N
J0 - PYBDY, BUOSRESTNBYP—TIUSPAY—ZDESH, STOHR 13~8R=4R~6RADSIIRE - 43~6R=7A~9RDSNRBCEDET ¢
HIRERCHELCHULWAN-Z ~y D [T/ RY R ZiEE. BRRNIPYRT & [ E1ERXREDREEBR )
AE3DBANEEE L. R ES1OEOELEEYR—LET @ ‘é DAL 2025%48128 (1) 12:30285—
ZEN 25 [O00G# &) #eeiFssesac | SEff#g 1 ¥33,870- OKE 2025848198 (1) 1900245 —k

B cC/\D—0/E

~ S — —
ZEN?‘%L@EE%?%E%J@%B@?%{J/\ ZZFJED%I g%%ij?é?%%ﬁ1€%7%yg;_ ** jD J 3 ‘yj ‘j ‘r J& t )bﬁ% b&g- ! **
JTOU=VIK AVANS NI ke @IV toN: Ve ZREUC FIRLET, —

M=)b- - RRMEBKRD 1 0%OFF

CYPOYIVERLSEBALIPH SHEL— Y\~ Y TREDHEREERES L a
%9, R=)LDOUZyD--- )V I-RCRBDIHBEPEET DE
@E%{E(;Z O | g%s * % % (AZAYNRD—SDAEYTDDREX(BB0MIEH ETLEY L) OF

1BOWER 1530~17:30 b E o0 - EZOOAFIBUA—ILIEL VLl 1 Obw |
2080®RE  12:30~14:30 Ly Y 900GLOBAL REV MATRIX (w7.vruvoz)

NI S) *x w K

D ML EAEEAE o :
SHERE |@ 57— H5me = HE8EFT

X D-@QEBEHDHICEROET SNE 2,900 nezsnozy

Ly RYBBOOBLNDEZECIFCRIBICTHBEAHSIEE), Uy YA TREMDBLLTNET, U PORERECIENODRERE SEMR—IUIE
EATSE |BARDT v VRV TOBRESRN LET, BHa<F v Il ST A PO TRED/ND 2 =N Y 2ERELET.

DIBBLEDRE LABERHD ST TCUVEELIESECINET, 2025F38318FTIEE | SIECOE(C )

i ¥63,800- = 28ffiIE¥35950- = Z— LS S8 ¥32,350-

PWBALw TRFSFUP « NIVON'RETOT1—R, BATZHDINY &
70\ BRONRDIS—D_—XZRM UL REDREHTEDORRE LUIER—ILTY,
S86R/\—IF900GLOBALREDA/N—TE\A 1 IIVIRIRRZIFS. FBERI
F2VyTT0Y IOEECKDBDIBR/NY DI REER, =5IC/D—IT v IR




NS

Fo XU RN —D8

Z\
iz | B |®E PN-T] G HDCP
*x : D i O SO BLBR—J XTI~ 7 OHC
*xi 3iH . FENBUT 7 =X 1J=2 3 LHC
* : NEWITZLEZ DS T2 3 CHE
* 1280 e T =TS TI=7) 3 LHC
* 1045V IT= ISP E=F IR 4 OHC
* 1530 iV 7= =7 3 LHC
* 18301 F v UIILSITZ 3 CHE
* 1900 /N U5 =2 3 LHC
*: 4 W 930 t JpAv=—")7 J)=7) 3 LHC
* 1000 :UT 1 —=RAIIT)VAD D IV =2 3 LHC
* 1230 :=<24 R =7 3 LHC
13000 TT=S594 )0
* 1530 :iDHNDNEI/ D I =7 3 LHC
* 2030 : JOF vy U JIF IV =2 4 LHC
* B TIK A0 T AT SN LRSI =7 3 CHCE
* 1045 KESROF=F XTI 4 SHC
* 1530 TGS T 3 CHE
SOB0 TKET =%
* UBTTRKTGR0 IR ST ST 3 CHE
* 1000 : 2y TV )V ADI 2 I =2 3 LHC
* 1230 : 4 ="J7)3 J1]=7) 3 LHC
1300 =" ANA)VI=2
* 1530 iG22I =7 3 LHC
* 1530 i3 T N5 I ]—7) 3 LHC
D100 =BT ST
i (i 930 iYKB20202D5 1) =7/ 3 LHC
* §0TIG T BYSTIT=S 3 CHE
* 1230:i 0T )b_—=2>2 )1 )=2) 3 LHC
* 1230 i 0234 A2 ) =7 3 LHC
* 1530 i/ \vE=2>5 J1]=7) 3 LHC
* 1530 (30N JTT=7) 3 LHC
21.00: JBCHHI=
LA N EC P EV PN 3 CHE
O i H: 1230 : YAYARN=
* O30 TRIBR=TXIT 4 OHC
* A0 OR0 HIEEDNBUT A ==Y 3 LHC
* G0 INEWILELD ST =% 3 CHE
* 1230 A TS TT=2) 3 CHE
* 1045 VI T = ISP E=F IR 4 OHC
* 1530 V7= )1 )=7) 3 LHC
* 18301 F v UIIHSITT=r 3 CHE
* 1900 /NS5 =7 3 LHC
* AT OB TS =S T = 3 CHE
* 1000 iUT 14 =AJIJD)VAD 2 I =7 3 LHC
* 1230 i< RS2 =7 3 LHC
1300 iV =2 ATl
* 1530 :iDHDNBCI D I =7 3 LHC
* 2030 : JUF vy U IIF IV =2 4 LHC
* (12K 930 (F )0 )04 ) I )=7) 3 LHC
* 930 i#ANSID =) 3 LHC
* 1280 T A= T RH57T1T =% 3 CHE
* 1045 KESRO F=FXIR Z OH¢E
* 1530 IG5 3 CHE
2080 TKIETT =2
* 3K TSRO THIFID ST ST 3 CHE
* 1000 TP TILI ST A5 TS 3 CHC
* 1230 i )=J7)3 J1)=7) 3 LHC
1300 0= 29I TT=7
* 1530 iSO I =7 3 LHC
* 1530 i1 T NS T —7) 3 LHC
STO0T=ZBIST
X 14:ix%: 930 :YKB202005 J1)=2 3 LHC
* 930 (G| B JU=2 3 LHC
* SO TTIL_=D S5 T =7) 3 CHC
* SO I XD ) =7 3 LHC
* S0 N\vE=5 JIJ=7) 3 CHC
* 30 (IO D I =7 3 LHC
* SO JUFvUIIRIAT) =2 3 LHC
jisiinn : MVBCEbIS
* MBCA—=_>VHPI= 3 MBCHC
(CHIE! HIF=H
: BROEF=FXIE 4 OHE
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* 179 : I NCUT 1 — A T—2 3 CHC
* . NEWILAERAD S IV =7 3 LHC
* 1230 TEHFEHSTT)=H 3 CHE
* 1245 iV 7= U< ) =T Xk 4 OHC
* 1930V =22 )1 )= 3 CHC
* 1830 iFv L IS5 J1)=0 3 LHC
* 19.00 /N J N2 1) =7 3 CHC
*x i 18: Wi 930 ( JpA =23 )1 )= 3 LHC
* 1000 UF Y =555 T2 3 CHTE
* 1230 i =24 RS )= 3 LHC
1300 0T =S990
* 1530 i DHNDNEI D =2 3 LHC
* 2030 T OF v UIINT AT =7 il CHTE
* i 19: K 930 (DF )71 A3 I )=7) 3 LHC
* 930 AN =1 3 LHC
* 1B T A =ZH LRSI = 3 CHCE
* 1245 TKESBED F=FXIT 4 OHT
* T30 TS5 TIT=2 3 CHT
POBO KT =%
200K TOT00 T =BoS5T
K IOTVE TR0 ITYRB 2O 2005 T1=7 3 CHTE
* O30 iG I BYUD =1 3 LHC
* {DBO T TV S5 T = 3 CHTE
* 12305214 LS5 J1)=2 3 LHC
* 1930 i/ \ve=22_J1)=7" 3 CHC
* 1530 ([[dDiScsDI o5 =7 3 LHC
POBOTEAZENT=7
OO TAEB0 T HELILY=
* 1800 T Y DY FIT5TT)=H 3 CHTE
231 Hi 1280 iYAYASYAL©ILA) =2
* PO30THTBRF=FXIE 4 OHT
* T2ATH T OE0 NEENME U T =) =7 3 LHC
* g30 EWILELT5 I =7 3 CHTE
* 1280 HEHFEI ST TT=2 3 LHC
* 1245 iV 7= JUS ) =T X/~ 4 OHC
* 1530 iV 7= )1)=7) 3 LHC
* 1830 F v UIIT5TT) =4 3 CHTE
* 1900 /N U NS )= 3 LHC
* TOBTWTOBO YIS =5 = 3 CHE
* 1000 i UT A =AJ )V AD S I =7) 3 LHC
* 1230 i<~ S5 1) =7 3 CHC
1300 i) =" ANA))
* 1930 iDHDNEI/ D I =7 3 LHC
* 2030 : JUFv U IIN IV A =7 4 LHC
* i 26: K i 930 i(JF )01 )03 I)=7) 3 CHC
* 930 i I=1 3 LHC
* TR0 T A= LTSI 3 CHE
* 1245 KESBED =T XTI 4 OHC
* 1530 T XSS TTT= 3 CHE
DOBO KET =
* PR TR0 AR DTS I = 3 CHE
* 10:00: 2y J)LI IV AD S I —=7) 3 LHC
* 1230 : A )—=J7)5 1) =) 3 LHC
1300 )= AL )V =2
* 1530 I EH TS TTT=% 3 CHE
* 1930 i1 T NDIS5 T —=7) 3 LHC
2100 =I5
*x 28w 930 iYRB2020D5 J1)=2) 3 LCHC
* 930 (G| BUD =2 3 LHC
* 1230 i T )b_—2D>5 J)1)=2) 3 LCHC
* 1230 0214 A5 )1 )=7) 3 CHC
* 1530 i/N\vE=2D5J1)=7) 3 LHC
* 1530 ([ [FXDNSI ST =2 3 LHC
* 2030 : J0Fv U I RIA) =2 3 LCHC
X T30H T 2030 THTEF=F XTI E 4 OHT
* PBTUE O30 I EENE U T A ==Y 3 CHC
* g:30 EWIXEZXDSTT=7 3 CHE
* 1230 1EHFEDSTT=2 3 CHE
* 1245 iV J7—JUS ) =T X/~ 4 OHC
* 1530 iV 7= )1)=7) 3 LCHC
* 1830 iFv L V)2 )= 3 CHC
* 1900 NI QDI S J)—=2) 3 [HC
HDCP OHC + « « A1 YvILN\ITFvY T o




